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PART - A
GENERAL INTELLIGENCE & REASONING

Directions : In questions no. 1to 4, select the related word/
letter /number from the given alternatives.

1. PAL:LAP :PAN:?

(A} NAP (B) LAN

(€) PAM D) MAP
2. b

(A) 240 (B) 625 (Q 26 (D) 125
3. Loksabha : Speaker : : Rajyasabha:?

(A) VicePresident (B) President

() PrimeMinister ([} Deputy Speaker
4.  Mango:Fruit: : Potato:?

(A) Stem (B) Flower

() Root () Fruit

Directions : In questions no. 5 to 7 select the one which is
different from other three alternatives.

5 (A) UWWX (B) RSST
() ABBC Dy XYYZ p ;::
#
6. {A) Lizard (B) Penguin /\\
() Snake D) Emn:vrme \\ /
7. (A) 28-14 ® 32-17 ‘\j
Q) 40-25 D) 45- 3;4 \f
(N
8.  Which one of the given %&J dnges would be a
meaningful order of the fol hﬁ
(1) Month (2) ‘L‘Ealft;:} eek (4) Day

(A) ()@.@6 8 .00
© (@)3) (), gﬁ ®), () (4,2, 1)

Directions : In L fi%ﬁ “‘h 9 and 10, a series is given,

with one term se the correct alternative from
!.hau ;,n en :g:n :l =| II u_nmplLl.L the series.
*&43 [B} MH () KR [0) LS,
=l -~..‘_!I
‘/I:,,J.f} 17,2 ,37, 50 '
(A) 25 (B) 26 (Q 27 (D) 24

Two statements are given followed M“m
Conclusions [ and II. You have to co the)

nsider
shﬂ:mhmbem,ﬂmﬁltﬁemshhq‘ﬂm
from commaonly known facts. You are todéd

of the given conclusions can d&é\ v\haﬂﬁfawn
from the given statement. Indica }'E‘:H{?SWE]‘,

Statements : All dusters are J;hﬂl
All bla:kbua(@ \}cfiﬁ]ks
Conclusions: L ,Sn{ne'&ug{q_r?_jre blackboards.
1. &%‘;}ﬂ are dusters,
(A) Both cofi conclusion II follow
(B) ﬂelﬁe)ﬁm!} I nor conclusion I follows
© {}ﬂ?y't{mg\ﬁﬂﬁ(l follows

“ fon IT foll
(D) Orﬂy\@mn ollows

m gi.nwards a person, a man said to a woman,
Hlﬁ mother is the only daughter of your father.”
]r ‘wl‘-'!u“ﬁ the woman related to that person ?

\ﬁ} Mother (B) Aunt
\/\\ Daughter (D) Sister

Select the correct combination of mathematical signs
to replace + signs and to balance the I’ulluwmg

11.

12.

equation.
242 2+ 44 8
(A) == B =+-
© +=- © +-=

14. Some equations are solved on the basis of a certain
system. Find the correct answer for the unsolved
equation on that basis,
5x8x6=06854, 2x3x9=9321
Bx5x6=7?
(A) 6587  (B) 2400 (C) 5421 (D) 6956

L2 34567

15. In a certain code, ‘'MANAGER' is written as
‘REG)&NP.M‘, then how ‘MOTION' is written as ?
abhyw3L |
(A) NOIOMT (B) NOITOM
(C) NOITMO () NOMOT

SPACE FOR ROUGH WORK



16.

17

18.

19.

www.eenadupratibha.net

From the given alternatives select the word which
canmot be formed using the letters of the given word.

FRIENDSHIP
(A) FRIEND
(©) SPEND

(B) FREE
(D) PRIDE

Five persons are standing in a queue T is behind
'N’ but ahead of ‘P'. 'L’ and ‘M’ both are ahead of
‘N’. Who is standing in the middle ?

(A) M (B N Q1] D) K

Meena is walking towards North. She turns right
thrice and then turns left. Inwhich direction is she
facing now ?
(A) East

(C) North

(B) South
(D) West

Select the missing number from the given responses.

2 2 4
1 8 16
6 7 36
(A) 32 ®) 15 (©) 48 D) 18 ,

Aword is represented by only one set of
given in any one of the alternatives. &Qg

murmbers given in the alternatives are rap edent
by two classes of alphabets asin two utp\ :
below. The columns and rows d\zﬁt [ are

numbered from 0 to 4 and th x Il are

numbered from5to 9, A 11': E matrices
can be represented first by “qm d next by its
column, e.g., "Y' can be rep 01,33, 42 etc.,
and 'H’ can be rep 56, 75, 97 etc.

Elmd'lriy you have }%Wlﬁ set for the word
given below |

f\gﬁm
MA A

21.  If a mirror is placed on the line MN, then which
the answer figures is the right image of the give:

figure?

Question figure

dehu?y the diagram that best represents the
rela;.m nship among classes given below ;

\x {Démd ,State, Country
(B) @

@ & o CH

A piec of paper is folded and cut as shown below
in the question figures. From the given answer
figures, indicate how it will appear when opened.

Question Figure

MATRIX - I . 1 3
0 213 | 4 5[6]7]819 mae =
H,E}L_‘:’EME s|G{H[I]|B|N Answer Figures
JAAINK(D]Y| [6]BIN|G|H]I e
AN Y |A|M|K|D| [7|H|T[B|N|G . I |
%.%~MKDTiSIENGH e o il |
~DIK[D[v[a[M] [9[~N]GIH][1]B d oIl " " llle el
- g - - | — __J
(A) 74385411 (B) 10,9559 03 — =
Q1,088 [0 B 30, 4, 02 ) (B) (© (D)
s & i (R d ]

SPACE FOR ROUGH WORK
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Which answer figure will complete the pattern in
the question figure ?

Question Figure

PSIPA

Answer Figures

alaa]e

(©)

FOR VISUALLY HANDICAPPED

CANDIDATES ONLY

20. There are 60 families ina housing society. 50% own
cars, 20% own a two wheeler. How many f-EIT'I:'ILl-I,Eb
do not own any vehicle ?

(A) 32 (B) 16 (©) 20 E;g_w_;-u

21 Therearefive friends~ A, B,C, Dand# A Ssshorter
than ‘B’ but taller than ‘E'. ‘'C’ is t-hgn}liu ‘D'is
little shorter than “B’, but lallerthan f\. Whois the
shortest ? .

"D (B) B M *A /(D) B

22.  Arrange the fﬂﬂuw;;:lg“m‘ﬂ*ds as per order in the
dictionary, v
(1) I}EC@R& nﬂn““ )}

() DEQORON ™
() DEChA Jumih
(4) m,.amow

Lﬂ:l {4},4"’! ). 3)
wﬁ {11 3,2,

=

) ()3 (). 2)
O (L0062

A
‘23. x.limd out the set among the four sets which is like the

/1 given set of numbers.

r

.
From the given answer figures, select IJ‘IE‘ﬂ.m u;l
which the question figure is hidden/ Embedd*EﬂL

= " %, .
Ilr . h'"-.\.
LY
..-r l._\\ -
Question Figure Al N
i e W
e Y i
- 3 e
.-".1':,.-..- '"._ _._.-'
| \ L
r _._l._l e Py O,
1.\__.'. .!.
| l._. k! r.
| | .
oo
/ % L,
- N I.\.

A

=
¥

LN,/ 38,33

(A) 7, 22,37
@ 5,16,32

B 913,19
D) 6,18, 54

4.  Given below are capital letters in the first line and
numbers in the second line. Numbers and letters
are code for each other. Choose the correct code for
given letters,

B DFHJ] L NP R
2 7 0 4 1 5 9 3 8
FBRLPH _
(A) 028934 (B) 028631
(© 028364 D) 028634
25.  Which one set of letters when sequentially placed at

the gaps in the given letter series shall complete it ?
M_EBMS_B_ SEBMSE_

(A) ESMB (B) MSEB

() SEMB (D) SEBM

SPACE FOR ROUGH WORK
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PART - B
NUMERICAL AFPTITUDE
26. Inastock clearance sale, a shoe company announces | 32, Rekha purchased a scooter for ¥ 20,000 and qul:‘;ﬂ
20% discount. If the discounted price is T 800, the for 2. 22, 000. The percentage of profitis:
original price is:
(A) 15 % B 12%
(A) T 4000 (B) T 1000
(C) T900 D) ¥100 (O 10 % ™) 20 %
1
33.  The base of right FI‘I&II‘I ai, al triangle
27.  Evaluate Jli’i‘r + 4216 + 6B + wfl"ﬁ?'s;' with a side nf?m, 1? ‘m;)zﬁ Find its
volume.
(A) 13 ®) 15 ,
© 9 0 12 WETQ
(e 529 m
28,  Theaverageof 11 results is 60 marks. If the average
of first six results is 59 marks and that of the last six
is 62 marks, then the sixth resull contains : 2 ;‘5*1&.:9 of work in 10 days and B can do the
mipiece Sof work in 20 days. They start the work
ul atler > da eaves. Lwill do the
(A) 65 marks (B} 66 marks th’Ethﬂr:'b fler 5 d yaﬁtl B will do th
() 60 marks @) 61 marks 4 {:\&\n?m o piece of work in:
{ \;;_1 /—}davs {B) 10 days
29, ;Fslw fourth proportional of the numbcrs&,/‘f}\fﬁ.& ©) 6days D) 8 days
(&) 28 B) 30 /_,\\‘
€ 20 —iD) 24 ~ c:. 35.  The cost price of a refrigerator is ¥ 28,000, The
shopkeeper offers a discount of 20% on it and loses
i “: 10%. The marked price of the refrigeratoris
30. Hundred apples were _ t of these
four were rotten and the rés %Id at ¥ 50 per (A) ¥ 28,000 (B) T 31,500
dozen. Then the m:'lp;@ 1{
i () ¥ 25,200 (D) ¥ 27,000
(A) 2150 e im0 :
€ T50 ,ff:/}x (oj 7125
QX :5 36.  Anarticle listed at ¥ 26,580 is sold at a discount of
A S 10%. Due o festival season the shopkeeper allows
31, s 'rﬁ}t(m traveliing B4 km, found that if he a further discount of 5%. Find the selling price of
-5.km an hour more, he would take 5 hr. the article.
: actpally travelled ata rate of :
2 2 725
(/(4?:\ Zkm/hour  (B) 10km/hour WRRRA BR8N
—
o {} 5km/hour (D) 6km/hour Q) T 2272590 2y T 23,922.00

SPACE FOR ROUGH WORK
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To raise the height of a low land 48 m long and | 42. A and B undertake to do a piece of work forT720. A

31.5 m broad to 6.5 dm , a ditch 27 m long and alone candoitin8 daysand B alone cando it in 12
18.2 m broad was dug inaside plot, the depth of the days. With the help of C they finish it in 4 days.
ditch will be: Then the share of C in Rupees is: %
() 5m ® 7m (A) 120 (B) 300

(©) 360 (D) 240

© 1m (D) 2m

43. A shopkeeper purchases 10 pie certain items

. e , for T 8.00 and sells the
A mixture of 20 kg. of spirit and water contains 10%

water, After adding a certain amount of water , the
weight of the new mixture is 25 kg. What is the (A) 56.50 %
percentage of water in the new mixture ?

(A) 18 % (B). 28 %

(C) 125% ) 15% : {As simple interest at a certain rate for

(B) T 11,000
D) T 12,000

The ratio of land and water in the whole world is
1:2. If this ratio in the northern hemisphere be 2 : 3;
then the ratio of land and water in the southern
hemisphere is : —

— 1

the compound interest on a certain sum for 2 vears
at 4% is ¥ 102, what would be the simple interest at
the same rate for two years ?

(A) 75 B) 100.50

(A) 4:7 M 4:11

Q) 3:4 D) 4:3

= my

{5 100 (D) 98

The side of a square increases fiEn find, by

what percent , does its area i L . |
46. A number of three digits when divided by 2,5, 9,11
leaves remainder 1in each case. The number is

Ay 27
(A) 981 (B) 983

(© 991 (D) 997

() 19

) cups is equal to the sale price of |
percentage of profit in the transaction | 47. ° If a man covers 1-:}3 km in 3 hrs., the distance

covered h}' himin 5 hrs. is -

(B) 30 % (A) 16km (B) 13km
D) 20 % (©) 1Bkm BT 17 km
SPACE FOR ROUGH WORK /
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The average wage of workers in a factory is 3 6,000.
There are 12 officers having an average wage of
¥ 14,000, while the average wage of the remaining
persons is T 5,600, the number of the workers is that

factory is:
(A) 242 (B) 252
(C) 240 {D) 230

Percentage share of goods transported throu gh Air, Road,
Rail and Sea in five countries : India, China, Korea, Japan,
Iran.

Given the total weight of goods transported in the 5
countries in a year are |

1086, 3140, 1855, 2360 and 1465 thousand tonnes
respectively,

Iﬂﬂl M Sea [1Rail [l Road [J Air
100+

! 5 ;.
CEE -

’ = i o HEgP
| 60F | | EE [ [EEQ
a0t EEE [ fHE L

i | = r i,:.._!_L

| 207 ’—J— : 1 | O

‘ India China Korea Japin s, Ifan

Study the graph and answer gquestion no. 49.

49.  Which country [rinsported the maximum quantity

of goodsbvroad?
(A Iran, (B} Japan

MEN, China (D) Korea

50. The following pie-chart shows the percentage of
literate and illiterate males and females in a city
having a population 2,50,000.

L] Hliterate female 8%
B Literate male 35,

e e Y B R TN P R R TR

[ Miterate miale 23y
L] Literate female!d3%

i

What is the differgtive betvreen thie number of literate
males and literafe'temalss ?

(A) 5,000 | (B) 500
(C) 75000 ) 1,500

FOR VISUALLY HANDICAPPED
CANDIDATES ONLY

The price of an article is cut by 10%. To restore itto
the tormer value the new price must be increased

by:

(A) 11% ® 11-%

1
(A) EH% (D) 10%

numbers oul of five numbers are 26 and 25
respectively. The difference of first and fifth number

152
(A) 4 (B) 1
{A) 41 (D) 16

SPACE FOR ROUGH WORK
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PART - C
GENERAL ENGLISH

Directions : In Questions No. 51 to 60, some parts of the
sentences have errors and some are correct. Find out which
part of a sentence has an error and blacken the

oval [@] corresponding to the appropriate letter (A, B, C).
If a sentence is free from error, blacken the oval
corresponding to (D) in the Answer Sheet.

51. Akbarwas,/ oneof the finest king /

(A) (B)
that India ever had. /No Error.
(© (D)
52.  The bunch of keys /have been lost /
(A) (B)
by my mother early in the morning. / No Error.
() (D)

53.  Weought serve/our elders/ in the family./
(&) (B)

(A) (B) Q)

D

58, MIWM%

Hons No. 61 to 70 sentences are given
be filled in with an appropriate word (s).
ae'are suggested for each question. Choose
CoTTE rnative out of the four and indicate it by
Keq inethe appropriate oval [@@®] in the Answer Sheet.

“Things often have to be repeated for the elderly

C5-2013/Pageld

It was a

(A) perilous
© brilliant

and 1918.

(A) between

(C) during

Silkworms like
m ulhurr}' brig.

(A) feed
(C) feeding

The First World War took place

ause thev are _ hearing,
(4) hard for (B} hard of
() hard up (D} hard by

journey across mountains in

the darkest of nights in winter.

(B) controversial

(1Y comfortable

1914

(B) within
(D) from

__uvm the leaves of the

(B) food
(D) fed

030 MI 4
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on the poor.
© for ©) upon
P
'66.  Puru, the fearless king of India, was convicted and
brought Alexander,
(A) after (B before
(C} for (D) down
67. My friend was trembling excitement.
W of B a  (@in (D) with
68,  They walked the old part of the house.
' (A) around (B) at
(&) on () among
69. Ishall be obliged you for the help you
extended to me.
(&) towards {B) for
(@ to (D) on
70. Nobodywill ___ the fact that sheis h-:mesz:
(A) dignify (B) deny
(C) defy (D) deify %
Directions : n Questions No. 71 to 73 oulee! ur
alternatives, choose the one which best the
meaning of the given word and markiti Sheet,
71.  innocuous 9,
(A) humourous (B) thetic
() harmless ([D} dly
72.  ridiculous
(B) disposable
(D) absurd
73.
(B) calm
(C) sound (D) serious

((5-2013/ Pagel5

Directions : In Questions No. 74 to 76, choose the word
opposite in meaning to the given word and mark it in the
Answer Sheet.

74, Amateur
(A) Individual (B) F‘mfﬁﬁﬂm@
(© Egoist ,
75. Wise
(A) feeble
{C) simple
76.  Pertinent
(A irre@? ) irresponsible
{C) irrati (L) irrelevant
Dir gyﬁME No. 77 to 79, four alternatives are
i th ym, Phrase underlined in expresses the

e Idiom\ Phease and mark it in the Answer

(A) toobtain money
(B) tomake friends
{C) tokeep asecret
(D) tomake peace

Watch his step

(A) behave with caution
(B) observe the threshold
(© walk carefully

(D) watch his friends

Tobeat about the bush
(A) Tocut down trees
(B} To plant more trees
() To hurtsomeone

(D) Mot tocome to the point

030 MI 4
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Direction : In Questions No. 80 to 84, a sentence/ a part of
the sentence is underlined. Below are given alternatives to
the underlined partat (A}, (B), (C) which may improve the
sentence, Choose the correct alternative. In case no
improvement is needed your answer is (D). Mark your
answer in the Answer Sheet.

80. As soon as the train left Kharagpur and reached
speed, a band of robbers brought out their revolvers

and daggers.
(A) Gained (B) Lost
(C) Redoubled (D) Noimprovement

81. The train of the timing are subject to change,
(A) The timnings of the train has been subject to
change.

(B) The timings of the train have been subject to
change.

(C) The timings of the train are subject to change.
(D) Noimprovement.

82. L Midhi Jain, is happy to express my views on
topics " Types of Follution and their effect”.

{A) 1, Nidhi Jain, is happy to express
the topic, “Types of Pollution and

viewson the topic, “ Type of Pol

effects”,
(Q) 1, Nidhi Jain, am happy y views
on topic, “Types of Poll eir effects”.

) Nolmprovement

(A) Being tiredshe lafiTunder the banvan tree.
(B) Being pirevilie oy under the banyan tree

tited,Jye lied under the banyan tree.

(B) wasbreaking

(C) break

(D) Noimprovement

CS-2013/Pagel6

Directions : In Questions No. 85 to 89, out of the
alternatives, choose the one which can be substituted
the given words/ sentences and indicate it by blackenin

the appropriate oval [ @ | in the Answer S‘hﬁe\fk
S\
85. The Actof Killing one seIf @

(A) suicide
i:D} gé .
ncially insolven.

(C) regicide
86. Having been legally dedlare
L

isto be:
(A) Bankru titute
(C) Penniles Broke
87. ADplease the peaple:
(B) Propeller
(D) Poplar

o

he Story you have told me is surprising and
lievable.

(A) shocking
) incredible

(B) disparaging
(D) meffective

A person who is easily hurt

(B) sane
(D) sensible

(A) sincere

(C) sensitive

Directions : In Questions No. 90 to 95, four words are given
in each question, out of which only one word is correctly
spelt. Find the correctly spelt word and mark your answer
in the Answer Sheet.

90, (A) banifit (B) beniffit
() benifit (T} benefit

91. (A) ricover (BY recover
() recaver (D) reccover

92. (A) discommfort (B) disscomfort .
{OQ) discomfort () descomfort
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‘93, (A) Registure (B) Registor
(C) Registar (D) Register

94, (A) Archaeology (B) Archology
(@ Axchiclogy (D) Arceology

95, (A) anaemia (B) animea
(O anaemea (D} annimia

Directions : In Question No. 96 to 100, vou have brief
passages with 5 questions following each passage. Read
the passages carcfully and choose the best answer to each
guestion out of the four alternatives and mark it by
blackening the appropriate oval | @ ] in the Answer Sheet.

Someone is knocking on Amanda’s door. Amanda
is home, but she does not answer, [t is the man who owns
the house where she lives. His name is Mr. Campbell.
Amanda calls him the Rent Man. He has come by to get the
rent money Amanda owes, Amanda does not have t
money to pay him. Amanda lost her job at the agto
three and a half weeks ago. “1 worked there for
Amanda thinks to herself. She is bitter "Buja

when she will find another job.

_ Lots of other people from her fa Teir jobs three
prkever day. Shelooks for
work at a restaurant. ‘"f never worked at a
restaurant”, the ownepf{élls- is job is not for };ﬂ“"-

ookstore. “We don’t have any

weeks ago, too. She looks fory

Man will go away soon.

Al 4 252013/ Pagel7

A

At

100.

96. Why does not Amanda have money to pay her
rent ?

(A) She wentshopping and spent her money

&

(B) She lent her money to her friend
(Q) She lost her job
(D) Her parents did not give her

97.  Why does Amanda not ge
(A) Thereareno

(B) She is over quahiie

(& 5“@
(D)

“h""':}f(
thejob

ked in a bookstore before

98. manda hope the “Rent Man’ will go

has to pay hospital bills

] % )" She has to vacate her house

She has to pay her rent still

(D) She has Lo repay bank loans

99.  Why does Amanda call the man who visits her "The

Rent Man' ?

(A) Because he is her boss.
(B) Because he is her teacher.
(C) Because he is her father.

(D) Because he is the owner of the house she lives
n.

Why is Amanda worried ?
(A) She has to buy books
(B} Shehas no money

(C) She has to pay her fees
(D) She has to buy provisions

030 MI 4



101.

102.

103.

104,

10z.

106,

y:

108,

éf:*

““1#} Samudragupta
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PART - D
GENERAL AWARENESS
Imperial Bank was constituted in the year : 110. Gandhi wanted to realise "truth’ through
(A) 1955 (B) 1921 (C) 1930 (D) 1935 (A} Karma (Service) %
(B) Dhyana (Meditation} O/ 1\

Metecrology is the science of : (O Ahimsa (Non-violence) j_f
(A) Metals (B) Earthquakes (D) Dharma (Religion )
{©Q Weather (D) Mateors

111. Inwhich year did Gandhiji_u ke the famous
Which of the following article of IPC is related Barndi M_"':h f \'ﬂ}
to unnatural sex ? (A) 1925 QE 1920 (D) 1930
(A) 376 (By 377 () 370 (D) 374 '

112. Inwhichy \:'?; osted the NAM summit
The splitting of white light into its components is (4 1 'CJ % 9‘5' () 1994 (D) 1995
dueto:

113. Th £ 5

(A) transmission (B) dispersion

{Q) reflection (D) refraction

A small drop of il spreads over water because :
{(A) oil has a higher viscosity

(B) water has a higher viscosity
©
(©)

ol has a higher surface lension
waler has a higher surface tension

C. K. Naiclu Life time achievemeant aw

aven tn:
(A) Sunil Gavaskar (B} M5 ni
(Q Kapil Dev D) Im ﬁutij)

Radioactive materials

%A' kept in the
comtainer made of { '.l
i 'IJ
The Indian

(A) Pb
rf::'al eaded by
m] Thestiy

() Fe
Wn&nt
[%{ “«{gmlml

mn‘u.- :-ml‘-t-.-"’

has been called the Napolean of India 7
{B) Skandagupta

115.

116.

117.

118.

() Chandragupta (D) Vikramaditya

(CS-2013/Pageld

4‘\/[{:?1'1?1] is located at ;
Q‘j (A) Nagpur

?erl Computer
‘F »Computer

,\/ Personal Calculator
P

I'he Central Food Technological Research Institute

{B) Ernakulam
(O Mysore () Dehradun
Sweat contains waterand
(A) Salt (B) Vinegur

(O Citric acid (D) Lactic acid

An object which absorbs all colours and reflects
none appears :
(A) blue

(C) white

(B) black
(D) grey

The maximum time a person can continue to be the
minister of the State Government without being a
member the state legislature :

(A) Six months (B) Notimelimit
(O Onevear @) Three months

Brass is an alloy of :

(A) Cuand Zn (B) Aland Mg
(@ Cu, AlandZn (D) CuandSn
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119. Density of population shows | 127. Which is not an anasthetic agent in surgical
(A) Land labour ratio operations:
(B) Man land ratio (A) Nitrous oxide (B) Acetone
(©) Land capital ratio (© Chloroform (D) Ether
(D} Land product ratio
128, Rectified spiritis: @
120. Radiations which is not emitted during (A) methylated spirit
radioactivity is: (B) tincture iodine
(A) yrays (B) Cathoderays (O 95% ethyl alcohol
(C) «rays (D) Brays (D) 100% ethyl alcohol O
121. By default, to run an application through mouse, dia?
which one of the following has to be done ? rto-lomev-Dias
(A) Single click (B) Doubleclick Columbus
(O Rightclick (D) Leftclick
122.  ‘Which of the following would be called a “Secular”
state ?
(A) The state which dees not discriminate between
religions
The state which accepts all religions as
religions of state, v _ |
(C) The state which follows a particular religion Indian Institute of science is located at
(D) The state which is anti-religion Q\g (B) Mumbai
}\7 Chennai (D) Bangalore
123. Nylonis made up of: J |
(A) Polyethylene (B) Polypraopyles 132. Insulin: .
© Polyamide D) Polyest (A) constricts blood vessels
: (B) stimulate: lactation
124. Head office of coca cola comps (O increases blood sugar
(C) New york D) e
. ' 133. Magnetic keepers are used to protect magnets
' from :
125. Name the :nuntry the first Industrial i grog
Revolution tookplace . (A) selt E'_ mﬂ_ i .
(A) German o\ Q} Fopi (B) demagnetization due to heating
(D) Great Britain (O Eartismagnetic field
. (D) effectof other magnels
126. material in ‘Gene-Bank’ is preserved : :
ih liquid nitrogen as : 134. Grossdomestic product is a measure of ;
pre-mature seed (high moisture) (4) A country’s financial position
ipe fruit (B) A country's industrial output
seedling and meristem (C) A country's international economic activities
(D) mature seed (dry) (D) A country’s domestic economic activities

CS-2013/ Pagell
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135. Animals having open circulatory system
POSSesses ;
(A) pseudocoel
(B) haemocoel
(C) coelenteron
(D) spongocoel
136. Which Article of the Indian Constitution empowers
the Parliament to regulate right of citizenship ?
(A) Article10 (B) Article11
(C) Article 8 (D) Article®
137, The state operates through:
(A) Government (B) President
(C) Political Party (D) Party President
138, Flowers emit fragrance to
(A} purify air (B) driveaway flies
() attractinsects (D) perform all the above
139. The sepoy mutiny of 1857 occurred during Ihe A
Governor Generalship of : e
a"‘a._\\‘.l.._“
(A} Lord William Bentinck :"A\\‘M .
(B) Lord Canning L_ﬁ
{C) Lord Dalhousie :\“H o
-
(D) Lord Lytton (o Ny~
N/
-!", _-H'H I"-. - /
140, Brine refersto: / N
.7,
(A) Purewater  (B) Staxchaviiér
() Saltwater _}iﬁffﬂﬂihﬁﬁr
F Ay
u "'-.
141, Whohad played key rdh m 'r.hefurmatlmuf Lokpal
bill in India ? ¢ },x O
(A) Baba Apg \ {Bj Medha Patekar
(C) ‘-,"me-i-ﬂ@ﬂka (D) Anna Hajare
ﬂ..
142, Ta;gga h'iei‘i‘isv
,{ﬁj\ﬂrasﬁ lands

www.eenadupratibha.net

/@y Dysers

“{EL Decidious forests

(D) Coniferous forests

C5-2013/Page22

143. How many bones are there in a newly born infant ?
(A) 280 (B) 300 (O 206 (D) 230
'i“,.-“

144, The highly populated city in India is : __:\:"\_;1
(A) Mumbai (B) Kolkata [ ,f}:“ e
() Chennai (D) Delhi “:l -/

AN

“"x 'M.T.:"r
Which of the following, preugng blqedih@ of gums ?
(A) Nicotinamide (B ’?h;q.nﬁhe
{O) Ascorbic acuf“a { [U}“{‘r*mmn‘l B

\Qu 7

Which of Lﬁef\ﬁrﬂfmn e,infl’fﬁj/lce:a is generally used to
check mgTﬁﬂm;h qut:s tions ?

{A) MIER ™ " (B) BarCode Reader

{quﬁnﬁ}‘f’) (D) OMR

|~.'_|__\_|

145.

146.

F

147. p’.lr‘uhu #mpng the following organised the “ All India
& Depressed Classes Association.” in colonial

"*«Mu‘*
P:L ({ﬁ} Pandita Ramabai

*-_.\‘\ I’G} M. K, Garudhi

(B) B. K. Ambedkar
(D) Jvotiba Phule

[j} /

148. Which of the following is referred to as " Young Fold
Moutains'
(A) Himalavas (B) Vindhvas
({C) Aravallis (D) Nilgiris

149. The national anthem was birst sung in the vear 1911
at the Annual session of the Indian National
Congress held at:
(A) Kolkata (B) Lucknow
(Q) Pune M Mumbai

150. The locomotion of insects to the source of light is
called :
(A Phowtachie (B Thermolactic

L) Pholelropic (D) Hvdrotropic

~ol)o=
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135, g QitH=R 99 A e 0w ©
(A) HRRe (F2 TE1)
(B) FmndE (@R
(C) TR ( 3 )
(D) wuisirdie (e @)

136, WWHTD OEYR #1 FH-9 Fde 82 3 TmitEa
w1 sifusn fafmafae w03 & afsd S0 g2
(A) =2 10 B) FT=T 11
(Q q=dus (0) =T 9
137, T4 Tosss o 8 & S g 7
(A) TR ®) TEaf
(Q Teifas = () W =1 Sy
138, @ Y BEA § .

(A) AT * Y& w1 F oy
@) wiwEal F1 wm & fou
{0y Tl =hi TR T & e

143. A fag) o fea efgeal et §7
(A) 280  (B) 300 (O 206 (D) 230

'[““«f:r

IR § AT el 9w wer r\\m
(A) Had ®) ﬁm“f

Q =4 (D) ﬁ-‘ﬁﬁ(m
H‘“‘w

q@ﬁmmﬁmﬁﬂmﬁm%:

(A) FRAES mﬁwﬁn

Q mﬁm&wﬁ}ma
/‘Hf ‘x /S

4 ma

(A) mﬂ%m (B) =W HIT frzx
{ET ,aﬁ\aﬁm D) FTHm

ALY}
}ﬂ?mdmﬁ“ﬁﬂ#ﬁﬁlﬁﬂmﬁ"ﬂﬁﬁﬁﬂmﬁﬂ

144,

145.

146.

(D) w1 {1 & fau
4 t f “\ ol g i &1 o ?
139, 1857 & = Towe & woa M we wE A 20N > ‘iﬂé ifgan T B) *.3m
(Ay w13 Taiem afE 3 5‘““‘&?.*: A Tk i -
®) @ S > :FH- BN e ™
ﬂ:} Hﬁﬁ"tﬂﬁ ‘l._ \"E_‘; .;;J i ¥ :
D) @i fe ra Al fore & 4 form 1 ' e W wm W 22
s (a) Tewmera ®) Ha
140. T T W FEE /!Q;I:x;a’* © st D) rafif
(A) TG W B FT &) e
< ke ,':"T’TER 7 o 149, U= A TEEl @R 1911 ¥ 9wdty W Fiie F
141. mﬂmhmﬁaﬁwwm i 7 amaifera anfds arfirdem o wran T o |
framd off 2 A S~ (A) =iETHmI (B) TETE
(A) cnmd-néf Q) ) qEE © M ) e
(@] ﬁhﬂﬁm’*‘ﬁ\ (D) #r=T 7=
& 433} 150. FY2i =1 WH ¥ wie 9 AR 1 FEem §
| yrﬁﬂﬂﬁ (A) WEHEIE (B) e
/) e (©Q FHIE] (D) A
/m qﬂﬁrmﬂ-
) ¥ P e
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